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ource: local data frame [150 x 5]

Sepal.Length Sepal Width Petal.Length
5.1 3.5 14
4.9 3.0 1.4
4.7 3.2 13
4.6 31 15
5.0 3.6 1.4

ariables not shown: Petal Width (dbl),
Species (fctr)
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[ iris %
] &1 | 7 Filter Q
Sepal.Length ~ Sepal.Width - Petallength = PetalWidth ~ Species
5.1 3.5 1.4 0.2 setosa
4.9 3.0 1.4 0.2 setosa
4.7 3.2 13 0.2 setosa
46 3.1 15 0.2 setosa
5.0 36 14 0.2 setosa
5.4 3.9 17 0.4 setosa
4.6 3.4 1.4 0.3 setosa
5.0 3.4 15 0.2 setosa
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dplyr:summarise(iris, avg = mean(Sepal.Length))
Doooooooooood
dplyr:summarise_each(iris, funs(mean))
summar OO0 O0O0000

dplyr:count(iris, Species, wt = Sepal.Length)
000000000000000@uoon)

ey

summarisg] O summary O 0 0 0O O summarl O O O

ggooboobobobobooobobboooooboon
0:

dplyr:prst min

goooiwmood gooooooo
dplyr:1ast max

gooooooo gooooooo
dplyr:nth mean
goodnDOgog gooooooo
dplyr:n median
ggoooooo gooooooo
dplyr:n_distinct var
gooooooobooo goooooooo
gooo «d

IQR 00000000000
JO0OoogIQr

goooboooboboood

dplyr:group_byiris, Species)

Species 000 00010000000
dplyr:ungroup(iris)
O00000oOoOoOooooooooono

iris  %>%group_bySpecies) %>%uimmarisge)
O00ooooooooo

[T T g
- —
T
T T
I —
(-
| | ]

RStudio” is a trademark of RStudio frmceRStudio ¥nfo@rstudio.cor 844-448-12123udio.com

Translated by Tomo Masudamd@makes

-> —
=

dplyr:mutate(iris, sepal = Sepal.Length + Sepal. Width)
o0o0o0o0ooooooooo

dplyr:mutate_each(iris, funs(min_rank))
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dplyr:transmute(iris, sepal = Sepal.Length + Sepal. Width)
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dplyr:setdiff(y, z)
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dplyr:bind_rows(y, z)
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dplyr:bind_cols(y, z)
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